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Directions (1-5): Study the following information
carefully and answer the questions given below.
Eightfans - A, B, C, D, E, F, G and H are kept
around a square table such that four fans are
kept on the corners and facing towards the
centre while four of the fans are kept in the
middle of the sides and facing away from the
centre. They belong to different brands viz.,
Usha, Havells, Kenstar, Bajaj, Cello, Orient,
Voltas and Crompton, but not necessarily in the
same order.

B is kept third to the right of the Kenstar fan.
Only three fans are kept between H and D,
which is not kept in the middle of the sides. E
belongs to Voltas brand and is kept immediate
right of H. Neither D nor H belongs to Kenstar
brand. The Crompton fan is kept second to the
right of D, which belongs to Havells. C is kept
second to the left of the Havells fan. The Bajaj
fan is keptthree places away from the Havells

fan. G is kept opposite to Bajaj fan. F faces the

fan which is kept immediate right of the Orient
fan. The Cello fan is not kept adjacent to A.

1) Which of the following fan is kept second to
the left of A?

a)C

b) B

c)A

dE

e) None of these

2) Which of the following fan is kept exactly
between G and the Cello fan, when counted
from the left of G?

I. The fan which is kept opposite to H.

Il. The fan which is kept immediate right of C.
lll. The fan which is kept second to the right of H.
a) Only (1)

b) Only (I1)

c) Only (1) and (III)

d) Only (llI)

e) All (), (I) and ()
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3) What is the position of B with respect to the
Orient fan?

a) Third to the left

b) Second to the right

c) Fourth to the right

d) Second to the left

e) None of the above

4) Four of the following five are alike in a certain
way as per the given arrangement and hence
form a group. Find the one that doesn’t belong to
that group.

a) The Usha fan

b) The Cello fan

c) The Voltas fan

d) The Bajaj fan

e) The Orient fan

5) How many fans are kept between D and the
Bajaj fan, when counted from the left of D?

a) None

b) One

c) Two

d) Three

e) More than three

Directions (6-10): Study the following information
carefully and answer the questions given below.
Nine persons-L, M, N, O, P, Q, R, S,and T are
sitting in a straight line such that all of them are
facing towards South, but not necessarily in the

same order.

S sits fourth to the right of M, where none of
them sits at the end of the row. Only one person
sits between S and R, who sits to the left of S.
The number of persons sitting to the right of S is
one less than the number of persons sitting to
the left of O. Only two persons sit between O
and P. As many persons sit between P and S is
same as between Q and T. L sits second to the
left of Q.

6) Who among the following person sits second
to the left of N?

A. The one who sits immediate right of R

B. T

C. The one who sits third to the right of O

D.P

E. Bothcand d

7) As many persons sit to the left of L as to the
rightof .

A. The one who sits immediate right of M

B.T

C.M

D. The one who sits immediate left of Q

E. The one who sits at the right end of the row

8) What is the position of T with respect to R?
A. Second to the left

B. Immediate right

C. Second to the right

D. Fourth to the right

E. Third to the left
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9) If all the persons are made to sit in the
alphabetical order from the left end, then how
many persons remain unchanged in their
position?

A. One

B. Two

C. Three

D. More than three

E. No one

10) Who among the following person sits
immediate left of the one who sits second to the
right of P?

A L

B. The one who sits third to the left of R

C.N

D. The one who sits immediate left of Q

E. None of these

Direction (11-15): Study the following information
carefully and answer the questions given below.
Eight persons viz. A, B, C, D, E, F, G, and H are
sitting around a circular table such that all of
them are facing towards the center. The
consecutive alphabetically named persons are
not sitting adjacent to each other.

Two persons sit between A and C, who faces E.
Only one person sits between A and F. The
number of persons sitting between E and F is
twice the number of persons sitting between C
and H when counted from the right of both F and
C. D sits exactly between B and G, who doesn’t

sit adjacent to E.

11) Who among the following person sits second
to the left of C?

a) The one who sits to the immediate right of E
b) G

c) The one who sits third to the right of A

dH

e) None of these

12) What is the position of F with respect to H?
a) Fourth to the right

b) Immediate left

c) Second to the left

d) Third to the right

e) None of these

13) If all the persons are made to sit in the
alphabetical order with respect to Ain a
clockwise direction, then how many persons
remain unchanged in their position, excluding A?
a) One

b) Two

c) Three

d) More than three

e) None

14) Find out the series that follow the same
logic.

DGFABC___

a) HD

b) FE

c) HB

d) AG

e) None of these
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15) Which of the following statement is/are true
with respect to the final arrangement?

I. Neither B nor H sits adjacent to E.

Il. More than one person sits between E and G
when counted from both sides.

lll. A sits exactly between B and F.

a) Only |

b) Only Il

c) Both Il and Il

d) Both Il and Il

e) None of these

Directions (16-20): Study the following
information carefully and answer the questions
given below.

A certain number of persons are sitting in a
straight line such that all of them are facing
towards North. Not more than 22 persons are
there in the row. Only eight persons sit between
P and R. J sits third to the left of P. Only five
persons sit between J and O. O does not sit
exactly between J and R. C sits immediately left
of O. Only four persons sit between C and S.
The numbers of persons sittingbetween S and P
is the same as the number of persons
sittingbetween P and T. Only three persons sit
between T and B. M sits at the end of the row. Q
sits exactly between B and M. Not more than two
persons sit between M and R.

16) What is the position of Q with respect to P?
a) Fourth to the right

b) Fifth to the left

c) Ninth to the right
d) Seventh to the left
e) Sixth to the right

17) How many persons sit between M and J?
a) As many persons sit to the right of T

b) Fifteen

c) As many persons sit to the left of Q

d) Twelve

e) As many persons sit between S and R

18) The number of persons sitting between C
and B is the same as the number of persons
sitting to the right of ____.

a) The one who sits third to the left of T

b) B

c) The one who sits fourth to the right of S
dT

e) The one who sits exactly between Q and B

19) If the position of O and Q are interchanged,
then who among the following person sits fourth
to the right of Q?

a) Not known

b) The one who sits fourth to the left of P

¢) The one who sits sixth to the right of C

d) The one who sits second from the left end

e) The one who sits second to the left of J

20) If | sits second to the left of R, then how
many persons sit between | and S?
a) As many persons sit between Q and R
b) Ten
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c) As many persons sit to the right of B
d) As many persons sit between J and R
e) Thirteen

Directions (21-25): Study the following
information carefully and answer the questions
given below.

Ten persons are sitting in a parallel row and
facing each other. InRow 1 D, E, F, Gand H are
sitting and all of them face north. In Row 2 L, M,
N, O and P are sitting and all of them face south.
Five persons like different colours viz., Red,
Green, White, Blue and Black and the remaining
persons like different fruits viz., Banana, Plum,
Grapes, Apple and Mango.

Only one person sits between G who likes white
and the one who faces P. Neither G nor P sits at
the extreme ends. As many persons sit to the
right of P is same as to the left of O. Only three
persons sit between the one who faces the one
who likes mango and N who doesn’t sit adjacent
to O. F likes grapes and sits diagonally opposite
to M. M sits adjacent to the one who likes apple.
F sits two places away from the one who sits
opposite to the one who likes black. The one
who likes green faces the one who likes grapes.
The one who likes blue sits immediate left of the
one who likes grapes. E likes plum. Neither M
nor H likes fruits.

21) Who among the following person likes Black
colour?

a) The one who sits opposite to H

b) The one who sits adjacent to M

c) The one who sits opposite to the one who
likes Grapes

d) Both (a) and (b)

e) None of these

22) Who among the following is an immediate
neighbour of one who likes green?

a) The one who likes Black

b) The one who likes Banana

c) The one who likes Red

d) The one who likes Apple

e) None of these

23) How many persons sit between the one who
likes grapes and the one who sits opposite to O?
a) No one

b) One

c) Three

d) Two

e) None of these

24) If M is related to Plum, L is related to
Grapes, then who among the following is related
to Blue?

a)D

b) G

c)N

dP

e) None of these

25) Who among the following person sits
opposite to the one who likes white?
a) The one who likes green
b) The one who likes Apple
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c) The one who likes banana
d) The one who likes plum

e) None of these

Directions (26-30): Study the following
information carefully and answer the questions
given below.

Eight persons - K, L, M, N, O, P, Q and R are
sitting around a rectangular table facing outside,
but not necessarily in the same order. Four
persons are sitting on the corners while four
persons are sitting in the middle of the sides of
the table.

N sits third to the left of M. One person sits
between N and L, who doesn'’t sit adjacent to M.
K sits opposite to O, who is the immediate
neighbor of L. The number of persons sitting
between Q and R is one more than the number
of persons sitting between P and R. Rdoesn't sit
opposite to L. P sits on one of the sides of the
table.

26) Who among the following person sits
immediate right of Q?

A M

B. The one who sits immediate left of P

C.R

D. The one who sits second to the right of L
E.O

27) Who among the following persons sit
adjacent to R?

A.Kand Q

B.Mand O

C.LandN
D.Pand M

E. None of these

28) What is the position of O with respect to the
one who sits third to the right of L?

A. Immediate left

B. Third to the right

C. Exactly opposite

D. Second to the left

E. Fifth to the right

29) How many persons sit between P and N,
when counted from the left of N?

A. As many persons sit between K to O when
counted from the right of K

B. Four

C. As many persons sit between L to M when
counted from the left of L

D. Five

E. One

30) Four of the following five are alike in a
certain way as per the given arrangement and
hence form a group. Find the one who doesn't
belong to that group.

A R

B.N

C.L

D.P

E.K
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Directions (31-35): Study the following
information carefully and answer the questions
given below.

Six persons- R, S, T, U, V and W are sitting
around a triangular table in such a way that three
persons are sitting in the corners facing inside
whereas three persons are sitting in the middle
of the sides facing outside. Each person likes
different chat items viz. Sevpuri, Dahipuri,
Bhelpuri, Panipuri, PavBhaji and Kachori.

R who doesn'’t like Sevpuri sits second to the
right of the one who likes PavBhaji. Only two
persons sit between the one who likes PavBhaji
and Dahipuri. U sits opposite to the one who
likes Kachori and facing inside. W likes neither
Panipuri nor Sevpuri. S sits second to the left of
T and likes Bhelpuri. V is an immediate neighbor
of S butdoesn’t like PavBhaiji.

31) U likes which among the following chat item?
a) Kachori

b) Bhelpuri

c) Sevpuri

d) Panipuri

e) Dahipuri

32) Who among the following person sits third to
the left of the one who likes Dahipuri?

a)S

b) The one who likes PavBhaiji

c)uU

d) The one who likes Kachori

eT

33) Who among the following person sits to the
immediate right of R?

a)Vv

b) The one who likes Panipuri

c) The one who likes Bhelpuri

d) The one who likes Dahipuri

e)U

34) Who among the following person likes
Kachori?

a) W

b) T

c)R

du

e)V

35) If T is related to W and S is related to R in a
certain way, then who among the following
person is related to U?

a)S

b) The one who likes PavBhaji

c)V

d) The one who likes Kachori

e) BothC & D

Directions (36-40): Study the following
information carefully and answer the questions
given below.

Seven persons - G, H, |, J, K, L and M are sitting
around a circular table facing inside the table,
but not necessarily in the same order. Each

person wears jewelry of different metals - Silver,
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Gold, Diamond, Steel, Copper, Platinum and
Nickel.

K sits second to the right of L, who wears Silver.
The person, who wears Diamond, sits adjacent
to K. Three persons sit between the one who
wears Diamond and J, who is not an immediate
neighbor of L. G wears Copper but does not sit
adjacent to J. The person, who wears Steel, sits
third to the right of G. Neither M nor the one who
sits adjacent to H wears Steel. The person, who
wears Nickel, sits third to the left of H. K does
not wear Platinum.

36) Who among the following person wears
Gold?

a) The one who sits immediate left of H

b) The one who sits third to the right of |

c) The one who sits second to the right of M

d) The one who sits third to the left of L

e) The one who sits immediate right of the one

who wears Platinum

37) How many persons sit between H and the
one who wears Platinum, when counted from the
left of H?

a) As many persons sit between L and M, when
counted from the left of L

b) One

c) Four

d) As many persons sit between the one who
wears Gold and the one who wears Copper

e) As many persons sit between G and |, when

counted from the right of |

38) ______ sits second to the right of M.

a) The one who wears Nickel

b) The one who sits immediate right of H

c) The one who wears Silver

d) The one who wears Steel

e) The one who sits third to the left of the one

who wears Silver

39) Which of the following combination is false
with respect to the final arrangement?

a) M-Diamond

b) L-Silver

c) K-Gold

d) J-Nickel

e) I-Steel

40) What is the position of | with respect to the
one who wears Gold?

a) Second to the left

b) Fifth to the right

c¢) Fourth to the left

d) Third to the right

e) Fourth to the right

Directions (41-45): Study the following
information carefully and answer the questions
given below.

Eight persons viz. S, T, U, V, W, X, Y and Z are
standing on a straight line such that all of them
are facing towards north, but not necessarily in
the same order.

X stands second from one of the extreme ends
of the row. T stands second to the left of V, who
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stands adjacent to X. The number of persons to
the left of T is the same as to the right of Y. More
than two persons stand between Y and U (either
on right or on left). S neither stands adjacent to
U nor T. The number of persons between S and
Z is one less than between W and S, who
doesn’t stand adjacentto Y.

41) Who among the following person stands
second to the left of T?

A. The one who stands to the immediately right
of U

B.Z

C.v

D. No such person

E. None of these

42) How many persons stand between S and X?
A. One

B. Two

C. Three

D. More than three

E. None

43) What is the position of V with respect to Z?
A. Fifth to the left

B. Third to the right

C. Fourth to the left

D. Fourth to the right

E. None of these

44) The number of persons standing between U
and V is the same as between .
A.Yand U

B. T and X
C.Xand W
D.SandyY

E. None of these

45) If all the persons are made to stand in the
alphabetical order from left to right, then how
many persons remain unchanged in their
position?

A. One

B. Two

C. Three

D. More than three

E. None

Direction (46-50): Study the following information
carefully and answer the questions given below.
Twelve persons are sitting in a parallel rows and
facing each other. Inrow1 G, H, |, J, Kand L are
seated and all of them face north. In row2 P, Q,
R, S, T and U are seated and all of them face
south.

H sits four places away from the one who sits
opposite to Q. K sits adjacent to H who doesn’t
sit at the extreme ends. K sits opposite to the
one who sits second to the left of S.T sits
opposite to the one who sits second to the left of
J. J sits neither opposite to Q nor adjacent to K.
R sits to the immediate left of T. As many
persons sit between T and R is same as
between G and L who sits opposite to S.I does
not sit at the extreme ends of the row. U sits
towards the left of P.
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46) Who among the following person sits
opposite to the one who sits second to the left of
P?

a)G

b) J

c)H

d) K

e) None of these

47) If Qis related to | and P is related to H in a
certain way, then who among the following
person is related to J?

a)u

b) S

c)R

dT

e) None of these

48) Which of the following statements is/are
true?

a) H sits to the immediate right of K

b) S sits opposite to L

c) P sits opposite to the one who sits second to
the right of G

d) All are true

e) None of these

49) Who among the following person sits
adjacent to I1?

a) The one who sits opposite to S

b) The one who sits opposite to R

c) The one who sits second to the right of G
d) Both (a) and (c)

e) None of these

50) How many persons are sitting between U
and the one who sits opposite to L?

a) Four

b) Two

c) Three

d) One

e) None of these

Answer with Explanation

Directions (1-5):

1) Answer: D

2) Answer: A

3) Answer: D

4) Answer: A (All the fans are kept in the middle
of the sides, except option A)

5) Answer: E

Final Arrangement:

Voltas

Kenstar E
C T H Usha
\ |
Orient G +—— —1* A Bajaj
Y ] w
/’ l, ~
D B F
Havells Crompton
Cello

We have,
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* B is kept third to the right of the Kenstar
fan.

* Only three fans are kept between H and
D, which is not kept in the middle of the
sides.

* E belongs to Voltas brand and is kept

immediate right of H.

* Neither D nor H belongs to Kenstar brand.

From the above conditions, there are two

possibilities

Ne——r

VOItas [ e Case 1 —_— Kenstar
i 1 w]
/ + N
B D
Voltas
Kenstar E

o

o Case II T

/’

|
A Y
"}
Again we have,
+ The Crompton fan is kept second to the
right of D, which belongs to Havells.
* Cis kept second to the left of the Havells
fan.
* The Bajaj fan is kept three places away
from the Havells fan.
From the above condition, case | gets

eliminated.

Havells
& |
Voltas F e=—4— Tase.l —t Kenstar
/ I ]

l S

Voltas

Kenstar E
Y H

= A

+—1— (Casell . Bajaj

Crompton

B

P l w

D B

Havells Crompton

Again we have,
* G is kept opposite to Bajaj fan.
* F faces the fan which is kept immediate
right of the Orient fan.
* The Cello fan is not kept adjacent to A.

From the above condition, case Il shows the final

arrangement.
Voltas
Kenstar E H Usha
\ |
Orient G +—f— Case II —1* A Bajaj
Ve l L
D Jé F

Havells cello Crompton
Directions (6-10):
6) Answer: C
7) Answer: A
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8) Answer: E
9) Answer: A
10) Answer: B

Final arrangement
| | |

| | |
ST T A S R R A
We have,

+ S sits fourth to the right of M, where none
of them sits at the end of the row.
* Only one person sits between S and R,
who sits to the left of S.
From the above condition, there are three
possibilities

Case-1: E l l

Case-2: |

Case-3: i l

S

Again we have,

* The number of persons sitting to the right
of S is one less than the number of
persons sitting to the left of O.

* Only two persons sit between O and P.

From the above condition, case3 gets
eliminated.

1. | | |
Case-1: i ‘ ‘

m.___
Ot
70—
-
=z
o

Case-2: | |
!

Again we have,
* As many persons sit between P and S as
between Q and T.
« L sits second to the left of Q.
From the above condition, case1 gets
eliminated. Hence, case 2 shows the final

arrangement.

f
“
cr——
Ot
-
-]
=1
-

by

p

Case-2: ! i l
Q S

[
-
O -t

Directions (11-15):
11) Answer: C

12) Answer: B

13) Answer: E

14) Answer: A

15) Answer: D

» Two persons sit between A and C, who
faces E.

* Only one person sits between A and F.
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E

C C

* The number of persons sitting between E
and F is twice the number of persons
sitting between C and H when counted
from the right of both F and C.

+ D sits exactly between B and G, who
doesn’t sit adjacent to E.

+ The consecutive alphabetically named
person doesn’t sit adjacent to each other.

Hence, case 2 gets eliminated.

Directions (16-20):
16) Answer: E
17) Answer: E
18) Answer: B
19) Answer: E
20) Answer: D

Final arrangement

Pt tr it trant
[TTTTTTTTTITTTT T

— =0

11
[

——=»

|
!

—J>=

We
have,
* Only eight persons sit between P and R.
* Jsits third to the left of P.

* Only five persons sit between J and O. O
does not sit exactly between J and R.
From the above condition, there are two

possibilities.

Bttt
T

rase-1

case-2

—t—o
—
—
—
—
—
— =
—
—
— -
—
—
—
—_—
—
—
—
R
— =

Again we
have,
* C sits immediate left of O.
*  Only four persons sit between C and S.
» The numbers of persons sittingbetween S
and P is the same as the number of

persons sittingbetween P and T.

Priree i fattontd
RiREREERREERRARE

case-1

case-2

N I
—t}—=o
—
—1—
—
N
—1—
I
—1—
[
S
—1—
e
—
—
—t—=—
e
e
e
— >

Again

we have,

* Only three persons sit between T and B.

+ M sits at the end of the row.

» Q sits exactly between B and M. Not more

than two persons sit between M and R.

From the above condition, case-1 gets
eliminated. Hence, case-2 shows the final

arrangement.
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Top 50 Important Seating Arrangement Questions

Pdsterr i tatdoasd
S ARRIEEARERRREERER

C o 5 ] P B TQ RM
S O
HERRRRRRRRRRRRREEREE
Directions (21-25):
21) Answer: E
22) Answer: B
23) Answer: D
24) Answer: E
25) Answer: B

Final arrangement:

(Red)(Apple)(Black)(Banana)(Green)
M 0 L P N

v vy v
t 11t

D
(Mango)(White)(Plum) (Blue)(Grapes)

We have,
* Only one person sits between G who likes
white and the one who faces P.
* Neither G nor P sits at the extreme ends.
* As many persons sit to the right of P as to
the left of O.
From the above conditions, there are two

possibilities

A A R
(S N M M |
{wrﬁtej
A S A
B S S
{(White)
Again
we have,

* Only three persons sit between the one
who faces the one who likes mango and
N who doesn’t sit adjacent to O.

* F likes grapes and sits diagonally
opposite to M.

» M sits adjacent to the one who likes

apple.

(Apple)
M 0

I
(O S

“—1
—=

Case 1:

(Mango ) White) (Granes}
(Apple)
N P o M
v o+ v
Case 2:
1
F G
(Grapes) (White)Mango)
Again
we have,

» F sits two places away from the one who

sits opposite to the one who likes black.
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Top 50 Important Seating Arrangement Questions

» The one who likes green faces the one
who likes grapes.

* The one who likes blue sits immediate left
of the one who likes grapes.

So Case 2 gets eliminated
(Apple)(Black) (Green)
M o] P N
Vol
(O N A A |
G F

(Blue)(Grapes)

Case 1:

(Mango)XWhite)

(Black)(Apple)
e} M

- T
S N
(Grages) (White)(Mango)

Again we have,
* E likes plum.
* Neither M nor H likes fruits.

HenceCase 1 shows the final arrangement

(Red)(Apple)(BlackBananalGreen)
M o] L P N

v Loy v
t 1ttt 1

D G E H F
(Mango)XWhite) (Plum) (Blue)(Grapes)

Case 1:

Directions (26-30):
26) Answer: D
27) Answer: B
28) Answer: C
29) Answer: D

30) Answer: E (All the persons sit in the sides of

the table, except option E.

0 L Q
N 4 A
R« N
‘lf LY
M p K
We have,

* N sits third to the left of M.
* One person sits between N and L, who
doesn’t sit adjacent to M.

+ K sits opposite to O, who is the immediate

neighbor of L.
From the above conditions, there are two
possibilities.
0, %‘ Ly A N
<= Casel N O« Case2 K
M \i' " K "i' 5

* The number of persons sitting between Q
and R is one more than the number of
persons sitting between P and R.

* R doesn't sit opposite to L.

» P sits on one of the sides of the table.

From the above conditions, Case 2 gets

eliminated. Hence, Case 1 shows the final

arrangement.
L Q
% 4 ek 3 N
Re€- Casel N O<€r Coeg2 K
) ] )
M ¥ K R M P
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Directions (31-35):
31) Answer: C
32) Answer: B
33) Answer: D
34) Answer: E
35) Answer: E

(Bhelpuri)
S
(Kachori)v W (Pav Bhaji)
T | ., .
(Dahipuri) ’E | U (Sevpuri)
(Panipuri)

We have,
* R who doesn't like Sevpuri sits second to
the right of the one who likes PavBhaiji.
* Only two persons sit between the one
who likes PavBhaji and Dahipuri.
* U sits opposite to the one who likes
Kachori and facing inside.
From the above conditions, there are three

possibilities.

(Pav Bhaji) u

R
4 ) u (Dahipuri) R
(Dahipuri) (Kachori)

(KachoDav Bhaji)

(Dahipur) g ’ Again we
have,

» W likes neither Panipuri nor Sevpuri.

« S sits second to the left of T and likes

Bhelpuri.

* Vs an immediate neighbor of S but
doesn’t like PavBhaiji.
From the above conditions,Case1 and Case2
get eliminated. Hence Case2a shows the final

arrangement.
(Pav Bhaji)v

(Kachori)

|
v U

R
{Dalﬁpuri)
U
(Bhel 5) T(Pav Bhaji)
Bhelpuri
Crsal,
I
V
(Dahipuri) 'g: w
(Kachori)
(Bhelpuri)s
(Kachori)V W(Pav Bhaji)

Case’Za

{DahTipuri) U (Sevpuri)
(Panipuri)

Directions (36-40):

36) Answer: B

37) Answer: E

38) Answer: D

39) Answer: A
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40) Answer: E

Final arrangement

Copper
Platinum G

Gold
K

Diamond

Steel
Silver

We have,

+ Ksits second to the right of L, who wears
Silver.

* The person, who wears Diamond, sits
adjacent to K.

* Three persons sit between the one who
wears Diamond and J, who is not an
immediate neighbor of L.

From the above condition, there are three

possibilities. Case-1a gets eliminated
]

K Diamond

Silver Diamond SilTver

Diamond

Silver

Again we have,

« G wears Copper but does not sit adjacent
to J.

* The person, who wears Steel, sits third to
the right of G.

Copper
] G
K
G
Copper ' K ’
Steel : Diamond
L
Silver Diamond Steel si'Tver A

gain we have,
* Neither M nor the one who sits adjacent
to H wears Steel.
* The person, who wears Nickel, sits third
to the left of H.
+ K does not wear Platinum.
From the above condition, case-1 gets
eliminated. Hence, case-2 shows the final

arrangement.

Copper
Platinum G

Diamond

SiIVLer Diamond Silver
Directions (41-45):
41) Answer: A
42) Answer: E
43) Answer: B
44) Answer: C
45) Answer: E
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Case 1:

Case 2:

Case Za:

Y cwy

Top 50 Important Seating Arrangement Questions

X stands second from one of the extreme
ends of the row.

T stands second to the left of V, who
stands adjacent to X.

The number of persons to the left of T is

the same as to the right of Y.

T X Vv Y
bt ¢+ ¢t ¢t ¢ t
T
Y T X Vv
b ¢t ¢+ ¢t ¢t ¢t t
C T
T Y VvV X
]

More than two persons stand between Y
and U (either on right or on left).

S neither stands adjacent to U nor T.
The number of persons between S and Z
is one less than between W and S, who

doesn’t stand adjacentto Y.

Hence, cases 1 and 2 get eliminated.

Case 2a:

T X v U

Y

P+ ¢+ ¢t ¢+ t
T
Y T X v

P+ ¢+ ¢t ¢+ t 1
- T 1
u W z T Y V X s
-

Direction (46-50):
46) Answer: C

47) Answer: D

48) Answer: D

49) Answer: A

50) Answer: C
Final arrangement:

Q s P T R U
T
e |
G L I K H ]

We
have,

* H sits four places away from the one who
sits opposite to Q.

+ K sits adjacent to H who doesn't sit at the
extreme ends.

+ K sits opposite to the one who sits second
to the left of S.

From the above conditions, there are three

possibilities
S Q
[ L 1 1 L 1
v v v v v v
Case 1:
£ 4 4 L S, S
I T T T T 1
H K
Q S
L 1 1 1 [ ]
v v v v v v
Case 2:
L A A A A ‘N
I T T T T 1
K H
Q s
L 1 1 1 1 ]
v v ¥ v v
Case 2a:
4 4 & A A A
I I ] I 1 1
H K
Again
we have,

» T sits opposite to the one who sits second
to the left of J.

» J sits neither opposite to Q nor adjacent
to K.
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? 1 T 1 ?
1 L
s . I ., . 9 v v v v v ¥
VR v v v %1:
e L [ S S S S
A A A A A4 I 1 | | I 1
I I 1 1 I 1 H K J
H K )
® =2 0 0 OB
s T . . v v v ¥ ¥ ¥
B2 Case 2:
i A A A A A A
S S SN, S S ] T T ] | 1
G I T G L I Kk H 13
Q T s Q T S
1 1 1 I 1 1 1 | | 1 1 ]
Case 2a: v v v v ¢ v Cé\Za: i’ 4’ 4’ 4’ 4‘ "l"
44+t 1+ 1 ' S S S S
] H g I { ! 1 I 1
] H K
Again
we have in we have,
+ R sits to the immediate left of T. * U sits towards the left of P.
- As many persons sit between T and R is Hence Case 2 shows the final arrangement
same as between G and L who sits ? ? F T '3 'ij
v Vv v v v v
opposite to S.I does not sit at the extreme Case 2:
ends of the row. T T ¢4 & T
So Case 1 and Case 2a get eliminated G L I K H ]
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